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I. Answer all the questions 





20 x 1 = 20
1. Volume of imports and exports of different goods is a component of _________________ Environment.

2. Impact on business due to the attitude of government officials is a part of _____________________

3. The latest development in Scientific Management is __________________

4. Planning reduces the risk of ___________________.

5. Firms have to study and analyse the market first and produce goods accordingly. 
This concept is called ___________________

6. _________________ is a type of training organized by the employer 
when employees are required to handle sophisticated machinery and equipments.

7. Name one website that is commonly used in Recruitment.

8. _________________ is a type of Plan that quantifies future facts and 
figures.

9. Advertisements of baby food must necessarily inform that mother’s 
milk is best. Which external force of Business Environment is being 
stressed here?
10.Name the Principle of Management that asks the manager to 
replace ‘I’ with ‘We’.

11.If you are the CEO of the company, then at which level of the 
management are you in ?

12.Who is known as the Father of Modern Management Theory?

13.Management is 

a.Art 

b. Science 

c. Art & Science

d. Neither

      14.Henri Fayol was a 

a.Social Scientist 
b. Mining Engineer

c. Accountant 

d. Production Engineer
      15.Who is the founder of Biocon India?

a.Dr Kiran Mazumdar Shaw
b. Dr Preetha Reddy 
c. Dr Swathi Piramal

d. Dr Vinita Gupta

      16.Which of the following does not explain the impact of Government 
          policy changes on Business and Industry.

a. More demanding customers

b. Increasing competition 
c. Change in agricultural prices 

d. Market orientation

      17.These are routine steps on how to carry out activities.

a. Policy 
b. Procedure 
c. Programme 
d. Promotion

      18.______________ type of organization is known for giving rise to 
     rumours among employees 
a. Formal 
b. Functional 
c. Divisional 

d. Informal

      19.A tall structure has
a. Narrow span of Management 
b. Wide span of Management 

c. No span of Management 

d. Less levels of Management

      20.Decline in cash transactions and Increase in bank deposits are the 
impact of 

a. Liberalisation 
b. Demonetisation
c. Privatisation 
d. Globalisation

II. Answer all questions. Marks are specified against each question.
30 
1. What do you mean by Primacy of Planning?




2


2. Define ‘Decentralisation’ and state any two importances.

3
3. State the steps in the selection procedure, after the employment interview and before the job offer. 





3
4. Differentiate between formal and informal organisations on the basis of (i) origin, (ii) authority, and (iii) flow of communication


3

5. Varsha Jain after completing her fashion design course from Indian Institute of Fashion Technology planned to enter into designer clothing venture. She had to address issues like her target customers, pricing, distribution channel etc., Identify the type of plan that Varsha Jain needs to develop to provide direction and scope to her organization in long run.










3

6. ‘Science is a systematized body of knowledge that explains certain general truths or the operations of general law’. In the light of this statement , describe management as science.



3

7. Super Fine Rice Ltd. has the largest share of 55% in the market. The company’s policy is to sell only for cash. In 2015, for the first time company’s number one position in the industry has been threatened because other companies started selling rice on credit also. But the managers of Super Fine Rice Ltd. continued to rely on it’s previously 

tried and tested successful plans which didn’t work because the environment is not static. This led to decline in sales of Super Fine Rice Ltd. 
The above situation is indicating two limitations of planning which led to decline in it sales. Identify these limitations.



3

III. Answer all questions.Internal choices are given for some questions. 30
1. Karan Nath took over ‘D’north Motor Company’ from his ailing father three months ago. In the past the company was not performing well. Karan was determined to improve the company’s performance. He observed that the methods of production as well as selection of employees in the company were not scientific. He believed that there was only one best method to maximise efficiency. He also felt that once the method is developed, the workers of the company should be trained to learn that ‘best method’. He asked the Production Manager to develop the best method and carry out the necessary training. The Production Manager developed this method using several parameters right from deciding the sequence of operations, place for men, machines and raw materials till the delivery of the product to the customers. This method was implemented throughout the organisation. It helped in increasing the output, improving the quality and reducing the cost and wastage. 
Identify and explain the principles and the technique of scientific management followed by the Production Manager in the above case.6
2.‘Moga Industries Ltd.’ approached a well established university in the city of Madurai to recruit qualified personnel for various technical and professional jobs. They selected Tanya, Ritu, Garima and Chetan for various vacancies in the organisation. After the selection and placement, ‘Moga Industries Ltd.’ felt the need to increase the skills and abilities, and the development of positive attitude of the employees to perform their specific jobs better. The company also realised that learning new skills would improve the job performance of the employees. Hence, the company decided to take action for the same. 
(a) Name the step of the staffing process regarding which the company decided to take action. 








1
(b) State the benefits of the action to ‘Moga Industries Ltd.’


5
3. The court issued an order that for vehicles to be smokeless was most
essential and that any one violating this order shall have to pay a heavy fine.
Abiding by this order was necessary for the health of people. Considering the
order of the court, ‘Jasbir Motors Ltd.’ resolved to manufacture such vehicles
by using modern technology that would not produce smoke. The government
also announced to provide help inseveral ways to set up such industrial units.

a.Identify the three dimensions of business environment highlighted above
by quoting the lines.
b. Give any one value which the court wanted to communicate to the society.






(OR)






6

XYZ is a leader in technology innovation in United States creating products and solutions for connecting the world. It has a large research team that invented in the first smart watch W-7. The watch besides showing time also monitors certain health parameters like heart beat, blood pressure etc. While in search of markets abroad the company found that in India the reform process was underway with the aim of accelerating the economic growth. The company decided to take advantage of simplified export procedure and removal of quantitative as well as tariff restrictions in India. It sets up its office in Bangalore and emerged as a market leader in a short span of time. This encouraged many other players to enter the market and thereby improving the competition and reducing the price for the customers.

Identify and explain the two major concepts related to Govt. policy in the above case and also explain three impacts of these concepts on Indian industry.








4. Coordination is needed at all levels of management and is responsibility of all the managers. Explain








6






(OR)

Explain any 5 reasons to indicate that Management is gaining importance day by day.



5. Explain the following techniques of Scientific Management

6
a. Fatigue study

b. Differential Piece Wage system

(OR)

Explain the following principles of Fayol

a. Authority and Responsibility

b. Unity of Command

